— = T e = =1 4+
FR6EERPEH Kk REFFMOEFHR (EIB)
51 B4 - BEFEEGEFER Bis&EK 236 %
EEEH 124 &
HMEH 15 ® B
1. ZEDFE-FIRICDOLT
FERMNER BRI AER EATH sy
gy [BFEGH(BRERSBFRER |BFEER|BFVRT BEV R (RETBR| 1y
P ® ¥ 3 ¥ F ¥ 74 5]
Ex| AH -3 FER HMPER |2FEQ ([R¥FER |LIFER|TIARR |2EHEER
14| 108 18R 89 1 13 0 2 0 0 3
2FR 8 2FR 8 0 0 0 0 0 0 0
T8 8 FRTH 1 0 0 0 0 0 0 7
2. EftaRICONT
E Fﬁ |7q FEHE | wamm <$Iﬂﬂ|“:8(-"éngmﬁﬁ%0)ﬁ*ﬁ>
A = F - =28
gi | s 6 RE o o—0o—0—o0—0 o—0—0
D |2 OEBEEZIBICT=oC, BARTIF T R HHELEL, 45/ 47| -0.05 o l ] s 4 2 @
[
Q) |Brar=lddz 3EmER b | BRI ORI H A EL 20, 54/54] 0.18 s t .
]
O BRI CELT- A, ST DRI, ST o /e . . o o o o
O |z L gL, _ 54/59) 059 5 / . o ° .
@ |3 B (73 AR, AT RL, 5% SCRRSE) 1A 4 CLI=A, 5.3|54| 0.38 °
ST ARSI H I - TR T LIz, 55/ 55| 0.33 s °
. L8
© zﬁﬁﬁﬁﬁ(:)ﬂb%ht%ﬁﬁﬁ.Vﬂfﬂxﬁﬁﬁﬂ?%@%ﬁ%fg{ii@@]’fb 5455 044 o . .
@ S HEDFEL R, TOREEEICLID, 5.6|5.6] 0.36
f;iﬁzﬁmmﬂvwla%%mggﬁ-fsﬁuwzmy}\of;f 56 56| 044 3
@ |1 S BB OIRIE A B L TOELT, 56|55 0.58
T I A R RN B C R B LN, R O 5
B LBEI AL CLEL 1, . 56|56 045 )
@ U HROMEEBLEL I, 5.7/ 56| 0.49
~F- DB KILC. T a B NCHERE L T-u > —— M4 =9 Iy ST A
® Z;&ggimﬁg' RUT, ZORELRIET HIDIHERE L 56l 56| 059 o ;H;EWTJJ
@ | B Yo7 AME IR U 2 2RI R U =T ERBY EL T 58(59| 0.27 1 o ‘ . ‘ ° ‘ @ ‘ 5 o — ® © ‘ o ‘ o ‘ o ‘ © ‘ o
® ()
ERARWERAIIEL SN, 57/57] 1.00 T OB ooy R OE OB M % o RN R
HoX oW ¥ 7 B L WK M A B ¥ K &
7ok ® % N B N % E A Om
HOE O M o2 4 S| I =S
<EBEMREFHHBERONER> <BREUEHEEDLLE >
0% 20% 40% 60% 80% 100%
OT7TEEE 31 ‘ ‘ 46 ‘ 25 ‘ 8 8 |6 :
E \ | I | \ Lo [« [ OrEEE
Q¥ —C ‘ \ ‘ 39 [ 15 B
@B AL 69 \ 4 | 10 o
F [ [ \
D EEM i ‘ \ — [ 9 [a]2
(OGP 74 | 40 [ 7 ]s
F [ [ \ \
@RS I ‘ \ | 2 [ 12 o
LY ‘ e — R
OF 8 ‘ o ‘ \ Z |72
@i 8 ‘ T ‘ \ B [6]50
OFEBM ‘ El ‘ \ Z [s B
OHERE 88 29 [70
F [ [ [ \
@i ‘ & ‘ \ z 7
(BUNS:5i) ‘ i ‘ | 13 &
@GRl 89 [ % [7 @

wiffli OFFfli5 OFFfE4 OFFE3 oAz eal o) |

—— KPRk

—— WP




